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And like the radiance of the morning in this world

OVERVIEW

The X713 states that the meaning of the WAw M 7P2 IR P02 is 1My P2 MR
2"MYY DOPOTEY WA NeaT Y. o'W interprets this to mean that the w7 Moy of 2"'v7
will be as bright as the 7nm71 ¥1 of 1"my?. Our NMvoN however does not accept this
interpretation, and offers another.
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The n''9 explained that the word 7712 means until noon -
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As is evidenced in wrw: 7920 99 that until six hours of the day have passed it is

still called morning. The P10 is teaching us that as bright as it is in "My (immediately)

before noon [when the sun is strongest] -
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That is how the initial shining of the sun [referring to sunrise] will similarly be

for 2°p37x in the world that will come in the future. The brightness of sunrise 0712
X277 will be the equivalent of noon 1"my2.

SUMMARY
It will be as light 2"v% at man7 71 as it is now by nxn.

THINKING IT OVER

What would be a meaningful difference whether 7"3¥% it will be as light by m>y
aAWn as it is now by mnnn 1 (which is *"wn nvw), or whether it will be as light 5"
by 7m0 71 as it is now by mxn (which is mdoIN NYW)?
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* The reading according to " would (seemingly) be that the 7p2 " (referring to 9nwn mM5y) which is weak 1"my2,
will be as strong as the wnw 17 (now) for the 7"y2 op>7x.

? The term w7 (usually) indicates a rejection of a different interpretation; in this case — *"w9. The y79 1327 Moo
explains the difficulty with *"w=s for the reading of the X3 indicates that wnwi N> (sunrise) is referring to 9"v7
(not now, as >"w1 would have it).

* The X there states (based on the 2°27¥7 T2 TWYN "W WAdA NXY P22 AWYN TART WA [7,0 (0M10) 12793] 10D)
that the 0°>2777 1°2 Y 7°»n may be offered from ni¥n onwards. This indicates that until mx7 it is still 9p12. (See the
X"5W who questions this proof.)
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